NEO-ANGLE
SHOWER DOOR

READ THE INSTRUCTIONS CAREFULLY

Familiarize yourself with all the parts as shown in the exploded
view. The exploded view will also provide a helpful reference
when relating to the location of the various parts and how
they are mounted.

COPY THE MODEL NUMBER FOR YOUR RECORDS HERE #

S z S z
O O
=1 B=]
LEFT HAND INSTALL RIGHT HAND INSTALL

Please visit us on YouTube and view our shower door installation videos.

One may be available for your installation. www.youtube.com/foremostgroups.

Toll Free Customer Assistance 1-888-620-3667 us customers

Monday-Friday, 7:30 a.m. To 5:00 p.m. CST

Y Y P 1'888'256'7551 Canada Customers

6241 Northwind Parkway, Hobart, IN USA 46342 5970 Chedworth Way, Unit B, Mississauga, Ontario, Canada L5R 4G5
www.ForemostBath.com www.ForemostCanada.com

©2021 Foremost Groups, Inc.



_———

390




PARTS LIST

Channel Cap
(2 pcs)

Wall Channel
(2 pes)

Side Panel Glass
(2 pes)

Door Glass
(1 pc)

Wall Channel Gasket
(2 pes)

Magnetic Door Seal
(2 pes)

=

Pivot Side Door Seal
(1po)

Short Drip Strip
(1 po)

Allen Key Kit

(2 pes)

Gasket Insertion Tool
(1 pc)

Plastic Washer
(4 pes)

Handle Wall Anchor Screw ST1/8"X1 5/8" Screw 1/4"X5/8" Clamping Washer Plastic Washer
(1 po) (8 pos) (Sere sosy 40) e gy 1) (4 pos) (8 pos)
1 1 1 1 1 1
©), 9, @), @9 ) (9]
x U = s -
=3 = ZN
% @ _
Long Drip Strip Top and Bottom Track Screw 1/4"X3/8" Pivot Assembly Allen Head Screw Cover Pivot Back Cover
1 (Screw M6X10) Q ) (6 pcs)
(1 pc) (2 pcs) (4 pcs) pcs P (4 pcs)
1 1 1 1 1
® ® ® ® ®
- s e s s
]

A WARNING: Safety glasses should always be worn when working with tempered glass.

RECOMMENDED TOOLS

O

®

—

3mm 1/8"
6mm 1/4"
SILICONE DRILL TAPE MEASURE RUBBER MALLET DRILLBIT KNIFE
p e | S/ O
\
LEVEL PENCIL SCREW DRIVERS UTILITY KNIFE SAFETY GLASSES CUTTING NIPPERS

-2 -




CHOOSE WHETHER YOU ARE INSTALLING LEFT OR RIGHT SHOWER DOOR

Determine which assembly configuration you need to follow based on the location of the shower
head as viewed from the outside of the shower. Follow the appropriate diagram below.

INSTALLATION PROCEDURE / STEP 1

n INSTALLATION MEASUREMENT
Measure from the corner base to the outside of channel.

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY
36" (33 1/4" - 33 7/8") (843.5mm - 859.5mm) 36" (33 1/4" - 33 7/8") (843.5mm - 859.5mm)
38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm) 38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm) 42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

<4 y < Y

(w806 - WWGZ68) (7/€ SE - .8/1 GE) .8
(Wwg 668 - WWS'eys) (,8/L €€ - ,¥/L €€) .9€

>
-

(Wwoeenl - Ww9'LL0L) (ub/€ OF - u8/L OF) WY
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

36" (331/4" - 337/8") (843.5mm - 859.5mm)
38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)




INSTALLATION PROCEDURE / STEP 2

n 1. Put & level wall channel (2) at the installation position, then mark the drilling hole.
2. Drill hole with 1/4" (6mm) drill bit.

3. Glue a little silicone into the hole, then insert wall anchor (8).

4. Glue a little silicone on the back of wall track (2).

5. Fix wall channel (2) with screw 1/8" x 1 5/8" (9) against the wall.

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY




INSTALLATION PROCEDURE / STEP 3

1. Insert fixed panel (3) into wall channel (2) slot.

2-3. Place wall channel gasket (5) between the fixed panel (3) and the channel (2).
Use the squeeze gasket tool (22) to push the gasket snuggly into place.

4-5. Note: he maximum adjusting range of both wall channel (2) is 5/8" (16 mm).

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY

7
N
y
N

"fLi L s 5
=" 2
4 2 ()

f0 ‘ N\ fg N\ fo N\ fe
2X
W ox a8 b S
L |\ L Outside /‘ ) Outside
fe —~ fe N\ gé N\ (6
Maximum Maximum
5/8"(16mm) 5/8"(16mm)
Ny || = o ==l
2X 2X
(6 Y fe N\
Maximum Maximum
5/8"(16mm) 5/8"(16mm)
| |:| l[::




INSTALLATION PROCEDURE / STEP 4

n 1. Install washers (11,12, 23) on the glass and use the screw 1/4" x 5/8" (10)
to fix the top & bottom track (14).
2. Glue a little silicone at the bottom of bottom track (14).
3. Use the allan key kit (21) to tighten the screw.
4. Install the screw cap (17).
5. Install the wall channel cap (1).

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY




INSTALLATION PROCEDURE / STEP 5

B 1-4. Install the top and bottom pivot kit (15,16) on the door glass (4) and top and bottom track (14).
5. Put the pivot back cover (18) on the pivot base, install screw cap (17) on the pivot kit.
6. Install the handle (7).

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY
Z29 A D

L Outside
) ®\

Outside/ ) \Outside

z
|

I.O@

Inside Inside

J ° J J ° Y,

-7 -




INSTALLATION PROCEDURE / STEP 6

2. Install the magnetic door seal (6) on the fixed panel (3) and door panel (4).

1. Install the pivot side door seal (19) on the door panel (4).

N

Ve

> ©
4
m pe ==
T

m /o
: \
(a4

>

> /@ j
y\ﬁrf
(@)

| T
I -
n \ 4
B ®




INSTALLATION PROCEDURE / STEP 7

1.  Measuring the “L” width of magnetic gasket (L).
2-3. Per the “L” size, cutting the both extra edge of bottom gasket (13).

4. Installed long drip strip (13) on the door glass (4), the cutting position of long drip strip (13)
need to be is at the same level with magnetic gasket (L).
5. Installed short drip strip (20) on the door glass (4).

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY




INSTALLATION PROCEDURE / STEP 8

Caulk sides of wall channel and bottom frame.
Do not open & close the door for 24 hours.

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY

=l
ob

FINAL STEP:
Caulk the inside sides of the shower door frame to seal.
Keep the entire area dry for a minimum of 24 hours.

-10 -



—OREMOST.

ATTENTION
CONSUMER:

IMPORTANT SHOWER ENCLOSURE
WARRANTY INFORMATION

PLEASE DO NOT DISCARD

Thank you for your purchase of a shower door
from Foremost Groups, Inc.

In order to be eligible for product warranty, please register
your base on our website within two (2) weeks of installation.
Go to:

www.ForemostBath.com/registration
and follow the instructions.

For any questions or comments
about your new shower base,
please contact our Customer Service at:

US CUSTOMERS: CANADA CUSTOMERS:
1-888-620-3667 1-888-256-7551
kandbservice@foremostgroups.com foremostcanada@foremostgroups.com
6241 Northwind Parkway 5970 Chedworth Way, Unit B
Hobart, IN USA 46342 Mississauga, Ontario, Canada L5R 4G5

(©) 2021 Foremost Groups, Inc.



COPIA EL NUMERO DE MODELO PARA TUS REGISTROS AQUI #

PUERTA PARA DUCHAS
NEO-ANGULAR

LEE DETENIDAMENTE LAS INSTRUCCIONES
Familiarizate con todas las piezas tal como se muestran en la
vista ampliada. La vista ampliada sirve también como util
referencia para conocer la ubicacidon de varias piezas y coOmo
se instalan.

=W

INSTALACION A LA IZQUIERDA

[

INSTALACION A LA DERECHA

Visitenos en YouTube y vea nuestros videos de instalacién de la puerta de la ducha.

Uno puede estar disponible para su installation.www.youtube.com/foremostgroups.

Asistencia gratuita al cliente

1-888-620-3667 ciientes de EE. UU.

De lunes a viernes de 7:30 a.m. a 5:00 p.m. CST. 1_888_256_7551 Clientes de Canada

6241 Northwind Parkway, Hobart, IN USA 46342
www.ForemostBath.com

(©) 2021 Foremost Groups, Inc.

5970 Chedworth Way, Unit B, Mississauga, Ontario, Canada L5R 4G5
www.ForemostCanada.com



_———

390




LISTA DE PIEZAS

Tapa de canal Canal de pared Vidrio de panel lateral Vidrio de puerta Junta de canal de pared Sello magnético
(2 piezas) (2 piezas) (2 piezas) (1 pieza) (2 piezas) de la puerta (2 piezas)

" . i Tornillo ST1/8X1 5/8” Tornillo 1/4”X5/8” iecié £ cti
Manija (1 pieza) Anclaje para pared Tornillo STAX40) (Tornillo M6X16) Arandila fie sujecion Arangelg plastica
(8 piezas) (8 piezas) (4 piezas) (4 piezas) (8 piezas)
1 1 1 1 1 1
@, 9! @) @9 @, a9
O
= = 7N
% @ ]
Tira de goteo larga Riel superior e inferior Tornillo 1/4X3/8" Ensamblaje de pivote Cubierta de tornillo de Cubierta posterior de
. . (Tornillo M6X10) g : . .
(1 pieza) (2 piezas) (4 piezas) (2 piezas) cabeza Allen (6 piezas) pivote (4 piezas)

Sello de la puerta lateral Tira de goteo corta Kit de llaves Allen Herramienta para Arandela plastica

pivotante (1 pieza) (1 pieza) (2 piezas) instala}ﬁi%?eggfuntas (4 piezas)

ADVERTENCIA: Siempre se deben usar gafas de seguridad cuando se trabaja
con vidrio templado.

HERRAMIENTAS RECOMENDADAS

—

3mm 1/8"

6mm 1/4"

SILICONA TALADRO CINTA DE MEDIR MARTILLO DE GOMA | BROCAS DE TALADRO CUCHILLO

® ) ®

/ == %g/ %‘)\\

NIVEL LAPIZ DESTORNILLADORES [ CUCHILLO MULTIUSO |GAFAS DE SEGURIDAD| TIJERAS DE CORTE

-2 -



ELIGE LA DIRECCION DE APERTURA DE LA PUERTA DE LA DUCHA: IZQUIERDA O DERECHA

Determina qué configuracion de ensamblaje debes seguir en funcién de la ubicacién del cabezal de
ducha como se ve desde el exterior de la ducha. Sigue el diagrama apropiado a continuacion.

PROCEDIMIENTO PARA LA INSTALACION / PASO 1

n MEDIDA DE INSTALACION
Mide desde la base esquinera hasta el exterior del canal.

MONTAJE A MANO IZQUIERDA MONTAJE A MANO DERECHA
36" (33 1/4" - 33 7/8") (843.5mm - 859.5mm) 36" (33 1/4" - 33 7/8") (843.5mm - 859.5mm)
38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm) 38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm) 42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

>
-

(w806 - WWGZ68) (7/€ SE - .8/1 GE) .8
(Wwg 668 - WWS'eys) (,8/L €€ - ,¥/L €€) .9€

(Wwoeenl - Ww9'LL0L) (ub/€ OF - u8/L OF) WY
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

36" (331/4" - 337/8") (843.5mm - 859.5mm)
38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)




PROCEDIMIENTO PARA LA INSTALACION / PASO 2

E 1. Coloca el canal de pared y nivélalo (2) en la posicidn de instalacion, luego marca el orificio de taladrar.
2. Taladra un orificio con una broca para taladro de 1/4” (6 mm).
3. Pega un poco de silicona en el orificio, luego inserta el ancla de pared (8).
4. Pega un poco de silicona en la parte posterior del riel de pared (2).
5. Fija el canal de pared (2) con un tornillo 1/8"x1 5/8" (3.1 x 16 mm) (9) contra la pared.

MONTAJE A MANO IZQUIERDA MONTAJE A MANO DERECHA




PROCEDIMIENTO PARA LA INSTALACION / PASO 3

1. Inserta el panel fijo (3) en la ranura del canal de pared (2).
2.-3. Coloca la junta de canal de pared (5) entre el panel fijo (3) y el canal (2).

Usa la herramienta para el ajuste de juntas (22) para empujar la junta comodamente en su lugar.
4-5. Nota: El alcance de ajuste maximo de los canales de pared (2) es de 5/8" (16 mm).

MONTAJE A MANO IZQUIERDA

7SN

MONTAJE A MANO DERECHA

"l 2X

©)
®

-

o

o

é.?
5
' 4

2X g’
®
o7 ‘

J A

s J 7

© ®

Méximo Maximo
5/8"(16 mm) 5/8"(16 mm)
2X

. J\C J . J .
4 N\ 4 2\

(5] (5]

Méximo Méximo
5/8"(16 mm) 5/8"(16 mm)
uﬂ l[:r

. J . J




PROCEDIMIENTO PARA LA INSTALACION / PASO 4

n 1. Instala las arandelas (11,12, 23) en el vidrio y usa el tornillo 1/4" x 1 5/8" (6.3 x 41.2 mm) (10)
para fijar el riel superior e inferior (14).
2. Pega un poco de silicona en la parte en la parte de abajo del riel inferior (14).
3. Usa el kit de llaves allen (21) para ajustar el tornillo.
4. Coloca la tapa del tornillo (17).
5. Instala la tapa del canal de la pared (1).

MONTAJE A MANO IZQUIERDA MONTAJE A MANO DERECHA

Interior

Interior

Interior Interior
J

A




PROCEDIMIENTO PARA LA INSTALACION / PASO 5

B 1.-4. Instala el kit de pivote superior e inferior (15,16) en el vidrio de la puerta (4)
y el riel superior e inferior (14).
5. Coloca la cubierta posterior del pivote (18) en la base del pivote, instala la tapa del tornillo (17)

en el kit de pivote.
6. Instala la manija (7).

MONTAJE A MANO IZQUIERDA MONTAJE A MANO DERECHA

Interior

Exterior
.
) ®\

-

(3]
Qo™ |

Exterior
. J J
g N\
(6] .
g
N 2
g,
N
'0®
Interior Interior
J \_ J N J \_ J

-7 -



PROCEDIMIENTO PARA LA INSTALACION / PASO 6

2. Instala el sello magnético de la puerta (6) en el panel fijo (3) y el panel de la puerta (4).

1. Instala el sello de la puerta lateral pivotante (19) en el panel de la puerta (4).

MONTAJE A MANO DERECHA

N

N

=

N
©
.

MONTAJE A MANO IZQUIERDA

=
it

Ve

e
®




PROCEDIMIENTO PARA LA INSTALACION / PASO 7

1. Mide el ancho “L” de la junta magnética (L).

2.-3.Segun el tamafo “L”, cortar ambos bordes adicionales de la junta inferior (13).

4. Instalar la tira de goteo larga (13) en el vidrio de la puerta (4), la posicion de corte de la tira
de goteo larga (13) debe ser al mismo nivel que la junta magnética (L).

5. Instalar la tira de goteo corta (20) en el vidrio de la puerta (4).

MONTAJE A MANO IZQUIERDA

MONTAJE A MANO DERECHA




PROCEDIMIENTO PARA LA INSTALACION / PASO 8

Aplicar pasta selladora en el canal de la pared y el marco inferior.
No abras y cierres la puerta dentro de las proximas 24 horas.

MONTAJE A MANO IZQUIERDA MONTAJE A MANO DERECHA

ot
ob

PASO FINAL:
Aplica pasta selladora a los lados interiores del marco de la puerta de la ducha para sellar.
Mantén toda el area seca durante un minimo de 24 horas.

-10 -



—OREMOS T

ATENCION
CONSUMIDOR:

IMPORTANTE ANEXO SOBRE LAS DUCHAS
INFORMACION DE LA GARANTIA

POR FAVOR, NO DESECHAR

Gracias por comprar una puerta de ducha de Foremost Groups, Inc.
Para ser elegible para la garantia del producto,
registra la puerta en nuestro
sitio web dentro de las dos (2) semanas posteriores a la instalacion.

Ir a:

www.ForemostBath.com/registration
y sigue las instrucciones.

Para cualquier pregunta o comentario sobre tu nueva puerta de ducha,
comunicate con nuestro Servicio de Atencidon al Cliente en:

CLIENTES DE LOS EE. UU. CLIENTES DE CANADA:
1-888-620-3667 1-888-256-7551
kandbservice@foremostgroups.com foremostcanada@foremostgroups.com
6241 Northwind Parkway 5970 Chedworth Way, Unit B
Hobart, IN USA 46342 Mississauga, Ontario, Canada L5R 4G5

(©) 2021 Foremost Groups, Inc.



PORTE DE CABINE
DE DOUCHE EN COIN
NEO-ANGLE

LISEZ LES INSTRUCTIONS ATTENTIVEMENT
Familiarisez-vous avec toutes les pieces illustrées dans la vue
éclatée. La vue éclatée servira également de référence utile pour
lemplacement des différentes pieces et la facon dont elles sont

COPIEZ LE NUMERO DE MODELE ICI POUR VOS DOSSIERS

installées.
3 z N 2
] ]
= [
INSTALLATION JNSTALLATION
A MAIN GAUCHE A MAIN DROITE

S’il vous plait visitez-nous sur YouTube et voir nos vidéos d’installation de porte de douche.

L’un d’eux peut étre disponible pour installation.www.youtube.com/foremostgroups.

Ligne d’assistance a la clientéle sans frais 1 888 620-3667 pour les clients des Etats-Unis
Du lundi au vendredi entre 7h30 et 177h00, HNC 1 888 256_7551 pour les clients du Canada

6241 Northwind Parkway, Hobart, IN USA 46342 5970 Chedworth Way, Unit B, Mississauga, Ontario, Canada L5R 4G5
www.ForemostBath.com www.ForemostCanada.com

(© 2021 Foremost Groups, Inc.



_———

390




LISTE DES

PIECES

Capuchon de glissiére

Glissiére Murale

Panneau de verre latéral

Porte en verre (1 piece)

Joint d’étanchéité de

Joint magnétique de porte

(2 pieces) (2 pieces) (2 pieces) glissiere murale (2 piéces) (2 pieces)
@ O} (D} ©@

Poignée (1 piece)

Dispositif d’ancrage mural
(8 pieces)

Vis de ST¥ po x 1 % po
(vis ST4x40) (8 pieces)

Vis de ¥4 po x % po
(vis M6x16) (8 pieces)

Rondelle de serrage
(4 pieces)

Rondelle en plastique
(8 pieces)

®

Longue bande
ramasse-gouttes (1 piece)

Rail supérieur et inférieur
(2 pieces)

Vis de ¥4 po x ¥ po
(vis M6x10) (8 pieces)

Assemblage du pivot
(2 pieces)

Cache-vis a téte
hexagonale (6 pieces)

Cache-pivot arriere
(4 pieces)

Moint de porte du c6té pivo]

Courte bande
ramasse-gouttes (1 piéce)

(1 piece)

Jeu de clés hexagonales
(2 pieces)

Outil d’insertion du joint
d’étanchéité (1 piece)

Rondelle en plastique

(4 pieces)

AVERTISSEMENT : Portez toujours des lunettes de protection quand vous travaillez
avec du verre trempé.

OUTILS RECOMMANDES

1/8 po (3mm)

1/4 po (6mm)

: MAILLET EN MEGHES DE
SILICONE PERCEUSE RUBANAMESURER |  MAILLETEN AECHES OF COUTEAU
2 emwm | S/ W
\
COUTEAUALAME |  LUNETTES DE
NIVEAU CRAYON TOURNEVIS RETRACTABLE PROTECTION CISAILLES

-2 -




CHOISISSEZ LA DIRECTION D’OUVERTURE DE LA PORTE DE CABINE DE DOUCHE -
A MAIN GAUCHE OU A MAIN DROITE.

Déterminez quelle configuration d’assemblage vous devez choisit, en fonction de 'emplacement
de la pomme de douche, telle que vue de I'extérieur de la cabine de douche. Suivez le schéma
approprié ci-dessous.

PROCEDURE D’INSTALLATION/ETAPE 1

n PRISE DE MESURES POUR L’INSTALLATION
Mesurez a partir du coin du bac et jusqu’a I'extérieur de la glissiére.

ASSEMBLAGE A MAIN GAUCHE ASSEMBLAGE A MAIN DROITE
36" (33 1/4" - 33 7/8") (843.5mm - 859.5mm) 36" (331/4" - 33 7/8") (843.5mm - 859.5mm)
38" (351/8" - 35 3/4") (892.5mm - 908.5mm) 38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm) 42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

<4 y < Y

>
-

(w806 - WWGZ68) (7/€ SE - .8/1 GE) .8
(Wwg 668 - WWS'eys) (,8/L €€ - ,¥/L €€) .9€

(Wwoeenl - Ww9'LL0L) (ub/€ OF - u8/L OF) WY
42" (40 1/8" - 40 3/4") (1017.6mm - 1033.6mm)

36" (331/4" - 337/8") (843.5mm - 859.5mm)
38" (35 1/8" - 35 3/4") (892.5mm - 908.5mm)




PROCEDURE D’INSTALLATION/ETAPE 2

1. Placez la glissiere murale (2) en position d’installation et mettez-la de niveau,

puis marquez le trou a percer.
2. Percez un trou avec la méche de V4 po (6 mm).
3. Appliquez un peu de silicone dans le trou, puis insérez le dispositif d’ancrage mural (8).
4. Appliquez un peu de silicone au dos de la glissiere murale (2).
5. Fixez la glissiere murale (2) solidement au mur avec une vis de s po x 1 % po (9).

ASSEMBLAGE A MAIN GAUCHE ASSEMBLAGE A MAIN DROITE

-

~




PROCEDURE D’INSTALLATION/ETAPE 3

B 1. Insérez le panneau fixe (3) dans la rainure de la glissiere murale (2).
2.et 3. Placez le joint d’étanchéité (5) de la glissiére murale entre le panneau fixe (3) et la glissiere (2).
Servez-vous de l'outil d’insertion du joint d’étanchéité (22) pour pousser le joint d’étanchéité
bien en place.
4. et 5. Remarque : La fourchette de réglage maximale des deux glissiéres murales (2)
est de 16 mm (36 po).

ASSEMBLAGE A MAIN GAUCHE ASSEMBLAGE A MAIN DROITE

4 N\
(1]
‘l
N 2X e
e N
(3]
16 mm maximum (5/8 po) 16 mm maximum (5/8 po)
2X 2X
. /O J . J . J
4 N\ 4 N\
(5] (5]
16 mm maximum (5/8 po) 16 mm maximum (5/8 po)
u] DE
. J . J




PROCEDURE D’INSTALLATION/ETAPE 4

n 1. Installez les rondelles (11,12 et 23) sur le panneau de verre et utilisez la vis de % po x % po (10)

pour fixer solidement les rails supérieur et in
2. Appliquez un peu de silicone au bas du rail

férieur (14).
inférieur (14).

3. Utilisez le jeu de clés hexagonales (21) pour serrer la vis.

4. Installez le cache-vis (17).
5. Installez le capuchon (1) de glissieére murale

ASSEMBLAGE A MAIN GAUCHE

ASSEMBLAGE A MAIN DROITE

Intérieur

Intérieur

Intérieur
A

Intérieur

J




PROCEDURE D’INSTALLATION/ETAPE 5

B 1. a 4. Installez les pivots supérieur et inférieur (15 et 16) sur la porte en verre (4)

et sur les rails supérieur et inférieur (14).

5. Placez le cache-pivot arriere (18) sur la base du pivot, puis installez le cache-vis (17)
sur ’ensemble du pivot.
6. Installez la poignée (7).

ASSEMBLAGE A MAIN GAUCHE

A\

ASSEMBLAGE A MAIN DROITE

7

Extérieur
J

Extérieur
.

(4] ®\

I

I.O@

Intérieur

NS

Intérieur
J -

fa %\

-7 -




PROCEDURE D’INSTALLATION/ETAPE 6

2. Placez le joint de porte magnétique (6) sur le panneau fixe (3) et sur le panneau de porte (4).

1. Installez le joint de porte du coété pivot (19) sur le panneau de porte (4).

ASSEMBLAGE A MAIN DROITE

ASSEMBLAGE A MAIN GAUCHE




PROCEDURE D’INSTALLATION/ETAPE 7

1. Mesurez la largeur « L » du joint d’étanchéité magnétique (6).
2. et 3. Coupez I’'excés de I'extrémité du joint d’étanchéité inférieur (13) selon la taille « L ».
4. Installez la longue bande ramasse-gouttes (13) sur la porte en verre (4);
la découpe de la longue bande ramasse-gouttes (13) doit étre placée au méme niveau
que le joint d’étanchéité magnétique (6).
5. Installez la courte bande ramasse-gouttes (20) sur la porte en verre (4).

ASSEMBLAGE A MAIN GAUCHE ASSEMBLAGE A MAIN DROITE




PROCEDURE D’INSTALLATION/ETAPE 8

Appliquez du calfeutre sur les cotés des glissieéres murales et sur le cadre inférieur.
N’ouvrez et ne fermez pas la porte pendant 24 heures.

ASSEMBLAGE A MAIN GAUCHE ASSEMBLAGE A MAIN DROITE

ot
ob

- J . J . J - J

DERNIERE ETAPE :
Appliquez du calfeutre sur les cbtés intérieurs du cadre de la porte de cabine de douche pour
assurer I’étanchéité. Veuillez maintenir la surface tout entiere seche pendant au moins 24 heures.

-10 -



—OREMOS T

AVERTISSEMENT
POUR LES CONSOMMATEURS :

RENSEIGNEMENTS DE GARANTIE IMPORTANTS
POUR ENCEINTE DE DOUCHE

VEUILLEZ NE PAS JETER

Nous vous remercions de votre achat d’'une
porte de cabine de douche de Foremost Groups, Inc.

Afin de vous prévaloir de la garantie du produit,
veuillez enregistrer votre porte sur notre
site web dans les deux (2) semaines suivant I'installation.

Allez sur :

www.ForemostBath.com/registration
et suivez les instructions.

Pour toute question ou commentaire concernant votre
nouvelle porte de cabine de douche,
veuillez communiguer avec le service a la clientéle au :

CLIENTS DES ETATS-UNIS: CLIENTS DU CANADA:

1888 620-3667 1888 256-7551
kandbservice@foremostgroups.com foremostcanada@foremostgroups.com
6241 Northwind Parkway 5970 Chedworth Way, Unit B

Hobart, IN USA 46342 Mississauga, Ontario, Canada L5R 4G5

© 2021 Foremost Groups, Inc.



